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-C. slanual contact has .............
J. agonists
<. Svnergists

' Breathing rhythm lasts for
a. 2-3
o460

2. tiving fumes lead to
1. Breathing issues
<. Energy waste

-3 tvhich helps in descending foetal head?
2. Swiss ball
<. Yoga ball

4 Ldebal muscles consists
4. Fast twist muscles
<. Skeletal muscle

o Lreadmill has
I I'lln\\’ﬂ\y\'ay
¢. platform

~u. PNl can cure
4. conlraction
. stiffness

fecumbent bicycle has
«. Laid reciycling position
¢. Lower position

. Vhat has 1 circular, 1 paddedd
Push pull dynanometer
Hand hel dynanomter

- vhat delivers low load, total resistance?
. Pain free range im
¢ lotal end range time

s uborm of MET
a. Muscle equivalent
<. Metabolic equivalent

b. antagonists
d. all

b. Gastric issues
d. none

b. Vestibular ball
d. al

b. Slow twitch muscles
d. Cardiac muscle

b. Conveyer belt
d. all

b. adhesion
d. all

b. Upper limbs
d. all

Myoelectric dynanometer
all

b. Contraction time
d. Total painless end

b. Muscle equilibrium
d. Metabolic equilibrium
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Time: 2 hr. 30 min.
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[ Answer question no.1 & any four (4)_from the rest ]

Worite about MET in details

a)
b)

a)
b)

:'l)
b)

a)
b)

Explain any two types of bicycle ergometry
Organization of energy conservation techniques

Causes of impaired mucociliary.
Two exercises of swiss ball

Normal cough pump
Name principles of PNF. Explain two.

Grades of mobilization
Thera PeP :

Postural drainage with different positions with diagrams

a)
b)

a)
b)

Enlist difference belween vibration and shaking
Punjabi model of spinal stability

Write about hand held dynamometer
Explaian McKenzie concept
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